# **Belmont City College**



# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 12th December 2025 Using "2D4C" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

### PREPACKAGED DELIVERY SERVICE

### HOME DELIVERY

Your order will be delivered by the 28th January 2026 for \$8.00, if placed on or before the return date of Friday 12th December 2025.

Orders placed after the return date will incur additional charges. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



# Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR EIGHT					
	STATIONERY					
D5.4500	All students are required to bring to school each day:					
P54568	2026 Diary A5 Student Week To View Spiro Cumberland	1		1	4.15	4.15
P58510	Eraser Plastic Pencil Large With Sleeve	2		1	0.40	0.40
P50451 P51685	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	3		1	1.80	1.80
P51003	Glue Stick 40gm Artline Clear	4 5		1 1	2.95 3.60	2.95 3.60
P56094	Highlighters Pkt 4 Micador ECO Pen Ballpoint Cap Type Black Medium	6		4	0.35	1.40
P56095	Pen Ballpoint Cap Type Blue Medium	7		4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	8		4	0.35	1.40
P50271	Pencil (HB) Goldfaber	9		4	0.70	2.80
P56211	Pencil Case 345mm x 140mm Handy Pouch Mesh	10		1	3.95	3.95
P50208	Pencils-Coloured 12's Columbia	11		1	3.10	3.10
P56414	Ruler 300mm Plastic Clear Marbig	12		1	0.75	0.75
P56242	Sharpener Pencil Barrel Double Hole (EL)	13		1	2.10	2.10
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	14		1	14.05	14.05
	SUBJECTS					
	DESIGN & TECHNOLOGY					
P55494	Safety glasses will be provided to students. Loss or breakage will inconducted by Document Wallet FC Slimpick Green	ur a \$5.00 replac 15	ement fee.	1	1.10	1.10
	DIGITAL TECHNOLOGIES					
	No specific requirements.					
	ENGLISH					
P06799	Focus on English 8 (SB) [Rex Sadler et al]	16		1	38.50	38.50
P55498	Document Wallet FC Slimpick Yellow	17		2	1.10	2.20
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	18		1	1.80	1.80
	ENGLISH - EAL/D					
	No specific requirements.					
	HEALTH EDUCATION  No specific requirements.					
	HOME ECONOMICS  No specific requirements.					
	HUMANITIES & SOCIAL SCIENCES					
P55492	Document Wallet FC Slimpick Blue	19		2	1.10	2.20
	For students to store their classwork and assessments					
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax For students to take in class notes, one for each term	20		4	1.80	7.20
	LOTE - JAPANESE					
P55494	Document Wallet FC Slimpick Green	21		1	1.10	1.10

# Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	<b>√</b> Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATHEMATICS					
P55285	Calculator HP Scientific HP-10s	22		1	25.95	25.95
P55498	Document Wallet FC Slimpick Yellow	23		1	1.10	1.10
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	24		1	2.25	2.25
P54137	Graph Binder Book A4 128 Page 5mm #135 Spirax	25		1	2.80	2.80
	MUSIC EXCELLENCE					
	A Loan Agreement form must be completed and Compulsory Hill instruments to the Administration Office at school at the beginn	re fee of \$125.00 ing of school ye	<u>) paid by st</u> ear.	<u>udents hirin</u>	<u>g school</u>	
P52506	Music Book A4 48 Page Ruled & Staved Spirax 243	26		1	2.35	2.35
	PERFORMING ARTS - DANCE					
	No specific requirements.					
	PERFORMING ARTS - DRAMA					
	No specific requirements.					
	PHYSICAL EDUCATION					
	No specific requirements.					
	SCIENCE					
P55492	Document Wallet FC Slimpick Blue	27		2	1.10	2.20
P50450	Exercise Book A4 64 Page 8mm with Margin #106 Spirax	28	$\Box$	4	1.40	5.60
	SPECIALIST CONTEMPORARY DRAMA No specific requirements.					
	STEM ENGINEERING No specific requirements.					
	VISUAL ARTS					
P51685	Glue Stick 40gm Artline Clear	29		1	2.95	2.95
P52001	Pencil (2B) Goldfaber	30		2	0.70	1.40
P50424	Scissors 152mm Blue/Black Handle	31		1	1.95	1.95
	INCLUSIVE EDUCATION					
P51082	Calculator Sharp Basic EL-231	32		1	13.95	13.95
P50450	Exercise Book A4 64 Page 8mm with Margin #106 Spirax	33		4	1.40	5.60
	<b>DEAF EDUCATION CENTRE</b> No specific requirements.					
	CLONTARF ACADEMY No specific requirements.					
	STARS FOUNDATION No specific requirements.					

## Please tick the items required in the box provided

(PRICES CORRECT AT 15/10/25)

 $\sqrt{\phantom{a}}$ Item

Reqd

\$

Qty

Unit

Reqd Price \$

Total

Amount \$

Item

No.

Number of Boxes ticked: Postage (Home delivery only) \$8.00 **ESTIMATED AMOUNT DUE** 

Office Use

Description